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| PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence, Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly ———--—- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party - 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can --—--— very high temperatures,

1) detach 2) submit 3) obstruct 4) withstand

4- Researchers have discovered that up to one half of all children born of alcoholics are
genetically -~——---—— to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important -——---—--— to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6-  Lack of childeare facilities can be a major for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7- It is a common ---—-—-- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The- for using this teaching method is to encourage student confidence.

1} advent 2) rationale 3} authenticity 4) constitution
'9-  The degree of punishment should be -———-— to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which cheice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

e S ——————

Commonwealth of Nations is an international organization composed of independent
states, all of which were part of the British Empire. It was constituted by the Statute of
Westminster, (11) -----—-— the British Dominions were recognized as ‘autonomous
communities’, (12) -=----- the British Crown. Since 1947, when India chose (13) -=-------
within the Commonwealth, it has consisted of an increasing number of republics, so that
the role of the British monarch, who is the head of only seventeen (14) ----eeeee- a total of
fifty-three member states, is confined (15) ---------- head of the Commonwealth. Given
that its member states have little in common apart from a historical tie to the UK, it has
rarely been able to influence world affairs, except perhaps for its leadership on the
international imposition of sanctions upon South Africa.

11- 1)so 2} which 3) so that 4) in which
12- 1) binding together 2} bound together by
3) together having bound 4) having bound together
13- 1) to remain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside
15- 1) for 2) to who is 3) to that of 4) that she is
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| Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), €2), (3)
or (4). Then mark it on your answer sheet.

Passage 1:

The fields of electronics and photonics are, at the fundamental physical level, intertwined in any
case, since accelerating electrons generate light and light propagating through optical media
interacts with dipoles. Whilst electron electron interaction is strong (with the result that devices
such as transistors are feasible), light light interaction is weak and devices such as lasers and
photodiodes rely on electron photon interaction. In the former electrons control the flow of
photons, while in the latter the roles are reversed. According to Saleh and Teich, electro-optics is
used to refer to optical devices in which electrical effects play a key role (examples include
lasers and modulators); optoelectronics refers to devices that are essentially electronic (e.g.
diodes) in which optical effects are important (examples include photodiodes). In recent years
the term ‘lightwave’ has also proved popular, and the term is to ‘microwave’ as photonics is to
electronics. Lightwave technology is commonly used to refer to systems that combine electro-
optic and optoelectronic devices with an optical transmission medium (usually optical fiber) in
order to transmit and/or process optical signals.

The passage states that electronics and photonics ...............

1) relate to one another to some degree 2 deal with the same topics

3) are more fundamental than pure physics  4) shed light on one physical process
According to the passage, optical media ................

1) help accelerate light

2) interact with dipoles

3) help light to propagate

4) interact with light propagated by electrons

Light interaction is ome ........ccosi000

1) in which photons control the flow of electrons

2) which is strong enough to support lasers and photodiodes
3) in which electrons control the flow of photons

4) which makes devices such as transistors feasible

It can understood from the passage that modulators ................
1) form the basis of electro-optics

2) play a key role in optical devices

3) were invented by Saleh and Teich

4) are devices in which electrical effects are very significant
The abbreviation “e.g.” in line 8 stands for .................

1) namely 2) unlike 3) usually 4) for example
The phrase “the term™ in line 10 refers to ...................
1) microwave 2) lightwave 3) photonics 4) electronics
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Passage 2:

With the current continuously growing MM& demand, it is apparent that conventional
broadband access solutions will quickly become bottlenecks in terms of bandwidth provision. In

this paper, the authors analyze the present global challenge for extended bandwidth provision in
the scope of the fast developing electronic communications sector, creating a fully converged
environment. In particular, first the authors examine several potential options imposed by distinct
technologies, as they are currently applied in the marketplace. Then they present a
comprehensive review of the emerging optical access solutions, focusing mainly on passive
optical network (PON) technologies that promise to efficiently meet the anticipated growth in
bandwidth demand and at the same time be economically viable and’ future-proof from an
operator’s perspective, and evaluate their capabilities to the conventional copper-based
broadband solutions. They also survey the current deployment efforts and relevant policies in the
European Community area, as well as discuss why Europe is lagging with regard to deployment
pace when compared to Asia and the USA. Specific and detailed analysis is given for recent
developments performed in the European Union, where the authors identify current trends,
potential hurdles and/or difficulties, as well as perspectives for further growth and development.

This extract looks like what part of a paper?

1) Abstract

2) Concluding remarks

3) Part of the discussion section

4) Part in which the state of the art in the field is reviewed

The word “bottlenecks” in line 2 is closest in meaning to ..............

1) options 2) obstacles 3) developments 4) incentives
Which of the following is the paper mainly concerned with?

1) Converntional broadband access solutions

2) The present global callenege for extended bandwidth provision

3) The scope of the fast developing electronic communications sector

4) Bandwidth provision options imposed by distinct technologies

The word “comprehensive” in line 7 15 closest in meaning o .....ccvvvviiinins

1) scholarly 2) understandable 3) thorough 4) definite

The passage states all of the following about passive opfical network (PON)
technologies EXCEPT that they ..ovvvvivincnnnsn

1) will not become outdated soon

2) are economically justifiable

3} are capable of satisfying the growing bandwidth demand

4) have capabilities comparable with the conventional copper-based broadband solutions
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Passage 3:

For over a century diffraction has been thought to limit the resolution of the image formed by a
light microscope. Only recently has it become clear that it does not in fact limit the resolution at
which we can learn the structure of a specimen. There are now several methods of far-field light
microscopy that have no fundamental limit to their potential spatial resolution, viewing the
specimen either as a collection of single molecular labels or as a continuously varying density of
fluorophore.

The location of a known object can be determined with great precision, given enough detected
photons. Turning localization precision into resolution requires a method of separating nearby
labels (those that are too closely spaced to resolve) into images that can be localized separately.
This is a well-established idea, originally investigated by using multiple labels that differ in some
parameter such as emission wavelength or fluorescence lifetime; more recently, it has been
studied through the important new concept of separating identical labels on the basis of their
individual stochastic behavior in time, using either photo bleaching time or reversible blinking.
This led to the breakthrough of modem techniques based on stochastic activation of
fluorescence. (See also the commentary article on page 365 of this issue.) Although localization-
based methods are powerful, they require a large number of raw images for each reconstruction,
and may ultimately be limited by non-ideal properties of the activation labels.

2?"’ Th'E "H"ﬂlf'd “ith i“ HDEI I!'EfEI'S tﬂ‘ FEEER SRR

1) image 2) resolution 3) diffraction 4) microscope

28- When changing localization precision into resolution, the method used .............

1) should be able to resolve labels too closely spaced

2) can do so without having to detect photons

3) should localize images separately before separating labels

4) can do so through a continuously varying density of fluorophore

29-  According to paragraph 2, identical labels can be separated based on their

1) emission wavelength 2) fluorescence lifetime
3) stochastic activation of fluorescence 4) individual stochastic behavior in time

30- The commentary article on page 365 deals with .................

1)} something pertaining to stochastic activation of fluorescence
2) a newly emerging issue in the field

3) a criticism of modern techniques

4) a full review of the issue
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